9 maTemaTudeckmnii Kjacc 1543. Anareopa.
19 nekabpa 2023

Pemure cucrembl

zy +yz=29, T+y=2, 22 +y? —4dxr+2y=0,
Yz +axz=S8, b|{ 2y+az+yz=5 2?2+ 22 —4a—62=0,
Ty +rz=>5 2 +y*+22=6 Y2422+ 2y —62=0.
1, 1 _ 1
I+z+y=uxy, ﬁf ylez_%Z
@ 2+y+z:yz, %‘f‘x_‘_zzg
d+z+r=zx. 1, 1 1
z oty 2

9 maremaTuvdeckuii Kjacc 1543. AJjreopa.
19 mexabpga 2023

Pemure cucrembr
ry+yz =29, T+y=2, 2?2 +y? —4dx+ 2y =0,
yz +xz =28, @ xy+rz+yz=> 2?4+ 2% —4r —62=0,

Yy +r2=>5 2 +y2+22=6 v + 22 +2y—62=0.
l+ 1 _ 1

l+az+y=uy, 7 yﬂltz_}?

S+z+r=zz. 1, 1 _1
z oty 2

9 maremaru4deckuii Kjacc 1543. Ajreopa.
19 nexabpsa 2023

[1] Permure cucrempr
2y +yz=09, T4+y=2, 2?2 +y? —4dx+2y =0,
[a] { yz+22=38, b]{ zy+az+yz=5 2?2+ 22 —4x —62=0,

zY+rT2=>5 > +y*+22=6 v +22+2y—62=0.
l+ 1 _ 1

l+z+y=uay, i lerz_}?

S+z+w=zx. 1y 1 _1
2T x+y 2

9 maTtemaruvdecKuii Kjaacc 1543. Aarebpa.
19 nekabpsa 2023

PeHmTe CHCTeMbl
2y +yz=09, rHy=2, 2?2+ y? —4dx+2y=0,
yz+a2=_8, b|{ ay+az+yz=5 2?24+ 2% —4r —62=0,

Ty +rz=>5 2+’ +22=6 Y 4+ 22+ 2y —62=0.
1,1 1
I+z+y=uay, % lerz_%2
@ 2—|—y—i—z:yz, %+$—|—Z:6
54+ z+x=zx. 1, 1 1
z Trty 2



